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Working with radicals Name

Perform the operation and then simplify the radical.
) V10ed5 = 6D = 25 -2 9) V90 = N[O

[5(z " A{10
10) /32
,....____....—-"‘"
2) VBea = (272 - J\br 2 )
lfg\[ﬂ 11y¥500 = ¥ 10D0-S

4.) (2\/6)2 L’*’ (o :@ | .

(8 (o) (@) 14.) 3455
5) 205035 (0057 DO 15) (3V6)? Q.= sS4
Ao )(New
( C\fto/\
16.) 7423412
6)V75 = < 253
l‘\_li.__.@ 17) 2J11e3V11 = (0- | = Lo o
Nz = U3 18.) (3v16)?
A3

19.) What is a square root? What does it mean
8.) V18 when you square something?
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. T'he Pythagorean Theorem and Its Converse Date Period

Find the missing side of each triangle. Round your answers to the nearest tenth if necessary.

1) 2)
C AR SR
. i = ’ 4 mi A -
12in| \" 12+ Xz IBL 2
a o+t QA= %
\LN? = |4 3 mi \ﬁg _;g"}!
x T | - o
(X=5. o
3) 4) | 2 2 .
My\ (\ O Gl o (L) (5.4
. " QA &
14.7 km Y (0\‘*“1: Z\lo-o C., AQ4 tX = L5110
e 2y 154mi\ | Kl'f_,\ﬂl:_,q -
r"
X=14.05
Find the missir\lg side of each triangle. Leave your answers in simplest radical form.
5) ' g 6) 2
, n 2 2. 7 7
y" Xt 14=\9 - 2% =10
g
A= 225 : 4 +x = L3S0
13 yd 5. w0 b * 2
X Pl ol Ux=az

Find the missing side of each right triangle. Side c is the hypotenuse. Sides @ and b are the legs. Leave
your answers in simplest radical form.

7) a=11m, c=15m 8) b=/6yd, c=4yd . I8
g 2
. 0\7'+\0':Cl O\Q'.\.(\I(a)‘:%

W= bEIST o*+N3p =l

FAR, o %= ZZ{ b= 42 O “akp= NG ol
\]/b&g\ou\ Q@ fa'l:\D N>




LEY

Worksheet B Date Block

G ‘-
'Cometry B Name

. State if the three numbers can be the measures of the sides of a triangle.

) 9,86 70 A \[Q ) 1269@

(O'(Q1>8 b
) 83,10 g 50 W 4 7.10,6 ‘'Ote® 1 —
34058 i "
State if each triangle is acute, obtuse,‘é‘m ght. O\ -rb >C ols "AQ
5) il L R
Sy n R 2 0) * ooV
o i —

WY 425 T b4 12 mi

6 ft :
/O\ /5cm




What kind of (rrangle-s 113 [s 1t a Name ' _;-_,___\W_-_-_ o
( 45-45-07, )RG) 6 ()- ‘)0’
1 0f the- loHnWlllg triangles Block

h\’%\llbv acl

and solve for the varables.

L 8 .
+ y= q B y= 6:5/3
z= (0

y Y .
, A T
Iriangle type 5 5 Triangle type ﬁ'b()
/.
Y RS 45N 12
& o
. ="9 Y
74
\ S x i
: L8 3 p
Tl‘langle type q 7‘\{ .) Triangle type ‘J( g Ll.‘\)
PN . 8. vy
x° J/ x° X— 4) 3
Y= (0 ‘Q 3 0 4

Triangle type ?)b b{)

4 . . Q 3v2 . .
¢ x—(gf-) i s 3 "‘H@ 3\0‘(1- {.»,
o
y= t) X V= ~—— |
! - (1 4DHNle
e A P EE G
Triangle WP33 V 10N, Triangle type {?‘:’ o

> 2 X xz}u

2 y=1"%

1Y Z=9~
\/\7\“‘3

Triangle type




Gieometry B

Worksheet C

1) \e

O v i 3 A
\,})-i'_\ 0 60°

7)

62 /5

Name

Date

o

S
3V2 \45°

. Find the missing side lengths. Leave your answers as radicals in simplest form.

Block
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Worksheet D SOH CAR TDA Date Block

L
1

mnd the value of each trigonometric ratio. -

| |
\ \\\\\ L s ?:—- 3) Slll ‘.' \ g {

_ -
) tan Z "'\“’; 0) sin Z

Y

A0
24

8) sin X

)f

2
V 29

A/

9) sinC ) 10) sin X -
| | 2.4 ) . \_,é_g...
\
10
B 24 5 S
Z
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. Find the missing side. Round to the nearest tenth. l‘( )
| B R o o

pod

i o™ - X | Y , " / <l ANGA
. ,/”/, \ (\\\\ ] ‘ ' ( , A: l‘.‘ ! ..’”. ’.' | ‘\—\.1/ / VAN ./ P
"4 =0 J 4 ()‘ _) =
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3) i

(x: w’\

X

% oy e TGN A S N R s

6 x e AW R ' C OS o i B
59° | = ? L 22 'X ’ -‘ |

5) ®
_ 0pf 3=
. o 3Dc ~\>-<- () nial

33° 1 L0 Y = tO s B
" - X o«dj -T ’ FE

BQ’: \2‘@ ‘ XDQéX = |O

N L%O§ . <0qg
[(x=12.35
7)

-  ~ e M
: ! 5\»‘\ ‘3{3\ - X
= | 2
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Geometry B Name

Worksheet I Date | Block

. Find the measure of the indicated angle to the nearest degree.

1) Q \ { \(\)x\( 1) ‘ P

/ . ; \ \ ,/ e

| » \\. ‘k\ H 16 \ mr s VAR 7.0
J ‘\,\\ AR VAR | AN |

‘.,,,.' 2 | ;’\
| y B i |
‘a ( - ik X
o — ‘M’
\'\ M".* AP~ =
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/ SINE = e R
i > \. |
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AT \,\ﬂ.('} l‘\ e —

5) 6) I
4 [ = /57)_(0(]0 16 ° (Z‘: A0 ]

7 e J R

36

16




